1a. Match the descripfions to the
numbers.
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1b. Malch the descrpficns to the
numbers.
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2a. When rovnded fo the nearest
thousand. which is the cdd one oul?

Two thousand, nine hundred and
" seveniy-six

C. Thirty-five hundreds and forty ones

Explain your reasoning.

2b. When rounded fo the nearest
thouvsand, which is the cdd one oul?

Three thousand, two hundred and
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Twenty-nine hundreds, six tens and

<. twelve ones

Explain your reasoning.

3a. Josh is thinking of a number.

He says,

( My number has seven
thousands, fiffeen

hwndreds and eleven

ones, and if rovnds up
to eight thouwsand.

Is he comect?

Explain your reasoning.

3b. Sophie is thinking of a number.

the says,
" My number has twenty-
four hundreds, twelve
tens and thirteen ones,
E"f_'ﬂi and it rovnds down fo
two thouvsand.

Is she comeci?

Explain your reasoning.




